WORKReady! Practice Questions

Foundational skills assessments measure different applied job skills in the areas of communication, problem-solving and interpersonal skills.

Reading for Information

Business and employees face rising requirements for reading and math skills in today's workplaces. An American Management Association survey in 2000 of midsized and larger businesses found that 38% of job applicants taking employer-administered tests lacked the reading and math skills needed in the jobs for which they applied. Reading assessments need to focus on written materials that are used by employees in the workplace.

The WorkKeys Reading for Information test measures the skill people use when they read and use written text in order to do a job. The written texts include memos, letters, directions, signs, notices, bulletins, policies, and regulations. It is often the case that workplace communications are not necessarily well-written or targeted to the appropriate audience. Reading for Information materials do not include information that is presented graphically, such as in charts, forms, or blueprints.
Level 3 Practice Question

ATTENTION CASHIERS:
All store employees will now get 20% off the price of clothes they buy here. Please follow the 
new directions listed below.

Selling clothes to employees

· Ask to see the employee's store identification card.

· Enter the employee's department code number into the cash register.

· Use the cash register to take 20% off the price. Then push the sales tax button.

· Write your initials on the sales receipt.

· Sell clothes to employees during store hours only.

Accepting clothing returns from employees

· Employees receive a store credit certificate for clothes they return to the store.

· Store credit certificates are next to the gift certificates.

· Employees may not get a cash refund for clothes they return to the store.

You are a cashier. According to the notice shown, what should you write on a store employee's receipt?

A. The employee's identification number

B. The employee's department number

C. The amount of sales tax

D. The 20% discount price

E. Your initials
Level 3 Practice Question Answer

A. The employee has to show an id card, but you are not instructed to write down the number.

B. You are instructed to enter the department number into the cash register, not the receipt.

C. You are instructed to push the sales tax button for this step.

D. You are instructed to use the cash register to take 20% off the price.

E.  The notice states, "Write your initials on the receipt." 
Level 4 Practice Question

INSTRUCTIONS TO SORTING DEPARTMENT:
SPECIAL PROJECT TO FIX ORDER #888

Five long, blue plastic bins have been placed over by the overhead door.
Piled on the other side of this room, near the time clock, are several
thousand steel rods of varying lengths. All of those rods must be sorted
by length and placed in the bins. 

Bin "1" is for rods that are four to five meters long.

Bin "2" is for rods that have a length of over five meters, up to
six meters.

Bin "3" is for rods that have a length of over six meters, up to
eight meters. 

Bin "4" is for rods that have a length of over eight meters, up to
ten meters.

Bin "5" is for warped or unsmoothed rods. These will not be
accepted.

If these rods are not all sorted correctly, the customer will reject the
order. We cannot afford to let that happen again. Work as quickly as you
can because Friday is the deadline for delivery of the order.

According to the instructions shown, what is a condition for project success other than delivery on time?

A. All rods must be sorted by both length and diameter.

B. Rods eleven meters long must be leaned against the overhead door.

C. The customer does not want rods that are warped.

D. The five-meter rods must go in Bin 2.

E. The ten-meter-long rods must arrive at the customer in Bin "4."

Level 4 Practice Question Answer

A. The instructions state no requirement of checking diameter, even though they mention sorting by length.

B. The instructions mention no such rods.

C. The instructions mention the unacceptability of the warped ones. [image: image1.png]


 Correct
D. The instructions plainly say to put those rods in a bin other than 2.

E. The instructions do not say the rods will stay in these bins all the way to the customer; each binful could be dumped into a separate truck and delivered that way.

Level 5 Practice Question

Goldberg's Auto Parts is served by more than fifty different accounts, each with its own sales representative, company name, corporate address, and shipping address. As a shipping and receiving clerk at Goldberg's, you are required to return defective merchandise to the manufacturer.

Standard procedure for returning an item begins with your written request to the company for authorization. Always send the request to the corporate address, not to the shipping address. Unless the company file folder contains a form for this procedure, write a business letter to the manufacturer supplying the item's stock number, cost, and invoice number; the date it was received; and the reason for its return. The manufacturer's reply will include an authorization number from the sales representative, a sticker for you to place on the outside of the box to identify it as an authorized return, and a closing date for the company's acceptance of the returned item. If you do not attach the provided sticker, your returned box will be refused by the manufacturer as unauthorized, and you will need to obtain a new letter, authorization, sticker, and closing date. Always send a returned box to the shipping address, not to the company's corporate address.

According to the policy shown, what should you do if you lose an authorization sticker?

1. Send a request for a return authorization along with the rejected part directly to the manufacturer's shipping address. 

2. Send a request for return authorization along with the rejected part directly to the manufacturer's corporate address. 

3. Repeat the standard procedure to obtain a new letter, authorization, sticker, and closing date. 

4. Use a sticker from another company's folder. 

5. Send the rejected part to your sales representative. 

Level 5 Practice Question Answer

1. Although it is correct that returned boxes should be sent to the manufacturer's shipping address, the box will be refused if it does not have an authorization sticker. 

2. Returned boxes should not be sent to the manufacturer's corporate address, and the box would be refused without an authorization sticker. 

3. The passage states, "If you do not attach the provided sticker, your returned box will be refused by the manufacturer as unauthorized, and you will need to obtain a new letter, authorization, sticker, and closing date." Therefore, if you lose the original authorization sticker, you will have to repeat the standard procedure to get a new letter, etc. [image: image2.png]


 Correct 

4. An authorization sticker from another company would not have the correct authorization number from the manufacturer's sales representative. 

5. The sales representative provides the authorization number, but the rejected part goes to the manufacturer's shipping address after the authorization sticker has been received. The rejected parts do not go to the sales representative. 

Level 6 Practice Question
From: J. Kimura, Senior Vice President of Molten Metals, Inc.
To: All e-mail users at Molten Metals, Inc. 

To permit our employees to communicate directly with one another as well as with vendors and customers, Molten Metals, Inc. provides a network of e-mail accounts. Access to e-mail is at the sole discretion of Molten Metals, Inc., and we will determine who is to be so empowered. Under President Duarte's leadership, all messages sent and received (even those intended as personal) are treated as business messages. Molten Metals, Inc. has the capability to and reserves the right to access, review, copy, and delete any messages sent, received, or stored on the company e-mail server. Molten Metals, Inc. will disclose these messages to any party (inside or outside the company) it deems appropriate. Employees should treat this server as a constantly reviewed, shared file stored in the system. 

Due to the reduced human effort required to redistribute electronic information, a greater degree of caution must be exercised by employees transmitting MM, Inc. confidential information using company e-mail accounts. Confidential information belonging to MM, Inc. is important to our independence and should never be transmitted or forwarded to persons or companies not authorized to receive that information. Likewise, it should not be sent or forwarded to other employees inside the company who do not need to know that information. 

MM, Inc. strongly discourages the storage of large numbers of e-mail messages for a number of reasons. First, because e-mail messages frequently contain company confidential information, it is good to limit the number of such messages to protect the company's information. Second, retention of messages fills up large amounts of storage space on the e-mail server and personal hard disks, and can slow down the performance of both the network and individual personal computers. Finally, in the event that the company needs to search the network server, backup tapes, or individual hard disks for genuinely important documents, the fewer documents it has to search through, the more economical the search will be. Therefore, employees are to delete as soon as possible any e-mail messages they send or receive.

Based on the memo shown, personal messages transmitted or received using Molten Metals, Inc., e-mail accounts will be:

A. automatically deleted upon detection.

B. avoided by server staff to save company time.

C. forwarded to private, personal accounts.

D. grounds for personnel action.

E. treated no differently from other messages.

Level 6 Practice Question Answer

A. The memo states that the company "has the capability to and reserves the right to. . .delete" any messages on the company server, but it does not say that anything will be automatically deleted.

B. It is the number of e-mail messages that cost company time when doing a search, not the type, and for that reason, employees are asked to delete as many messages as possible.

C. Employees are asked to delete unnecessary messages but the memo does not suggest saving any of the messages anywhere else.

D. There is no mention of personnel action in the memo.

6. The memo states that "all messages sent and received (even those intended as personal) are treated as business messages." Other than that statement, there is no differentiation between business and personal messages. [image: image3.png]


 Correct
Applied Mathematics

According to the Bureau of Labor Statistics, 80% of the fastest-growing jobs in the United States require some training after high school. Many of these jobs require a strong basis in math and science. Mathematics engages critical thinking, abstract reasoning, and problem solving. Individuals can use these skills throughout their lifetime for higher learning and many different careers. The WorkKeys Applied Mathematics assessment helps current and potential employees measure the math skills they have against those the workplace requires.

This assessment measures the skill people use when they apply mathematical reasoning, critical thinking, and problem-solving techniques to work-related problems. The test questions require the examinee to set up and solve the types of problems and do the types of calculations that actually occur in the workplace. This test is designed to be taken with a calculator. A formula sheet that includes all formulas required for the assessment is provided. While individuals may use calculators and conversion tables to help with the problems, they still need to use math skills to think them through.
Level 3 Practice Question

In your job as a cashier, a customer gives you a $20 bill to pay for a can of coffee that costs $3.84. How much change should you give back?

1. $15.26 

2. $16.16 

3. $16.26 

4. $16.84 

5. $17.16 

Level 3 Practice Question Answer

1. $15.26 = $20.00 - $4.74 

2. $16.16 = $20.00 - $3.84 [image: image4.png]


Correct
3. $16.26 = $20.00 - $3.74 

4. $16.84 = $20.00 - $3.16 

5. $17.16 = $20.00 - $2.84 

Level 4 Practice Question

Over the last 5 days, you made the following number of sales calls: 8, 7, 9, 5, and 7. On the average, how many calls did you make each day?

1.   5.8 

2.   7.0 

3.   7.2 

4.   9.0 

5. 36.0 

Level 4 Practice Question Answer

1. (8 + 7 + 9 + 5) ÷ 5 = 5.8: Forgot to include the last 7

2. 7.0 is the mode value of the numbers in the series

3. (8 + 7 + 9 + 5 + 7) ÷ 5 = 7.2 [image: image5.png]


Correct
4. (8 + 7 + 9 + 5 + 7) ÷ 4 = 9

5. 8 + 7 + 9 + 5 + 7 = 36.0: Forgot to divide by 5

Level 5 Practice Question

Quik Call charges 18� per minute for long-distance calls. Econo Phone totals your phone usage each month and rounds the number of minutes up to the nearest 15 minutes. It then charges $7.90 per hour of phone usage, dividing this charge into 15-minute segments if you used less than a full hour. If your office makes 5 hours 3 minutes worth of calls this month using the company with the lower price, how much will these calls cost?

1. $39.50 

2. $41.48 

3. $41.87 

4. $54.00 

5. $54.54 

Level 5 Practice Question Answer

To calculate Quik Call's price, convert 5 hours 3 minutes to minutes (60 x 5 = 300; 300 + 3 = 303 minutes) and then multiply this by the rate of 18¢ ($0.18) per minute, which equals $54.54. To calculate Econo Phone's price, round 5 hours 3 minutes up to 5 hours 15 minutes and then convert the 15 minutes to ¼ or .25 hours. This value of 5.25 hours is multiplied by the rate of $7.90 per hour to obtain $41.48. Compare the two costs, $54.54 and $41.48, to determine the lower cost.

1. 5 hr x $7.90/hr = $39.50

2. 5.25 hr x $7.90/hr = $41.48 [image: image6.png]


Correct
3. 5.3 hr x $7.90/hr = $41.87

4. 5 hr x 60 min/hr x 18¢/min = $54.00

5. 5 hr x 60 min/hr = 300 min; 303 min x 18¢/min = $54.54

Level 6 Practice Question

You are preparing to tile the floor of a rectangular room that is 15½ feet by 18½ feet in size. The tiles you plan to use are square, measuring 12 inches on each side, and are sold in boxes that contain enough tile to cover 25 square feet. How many boxes of tiles must you order to complete the job?

1.   11 

2.   12 

3.   34 

4.   59 

5. 287

Level 6 Practice Question Answer

First, convert 15½ to 15.5 and 18½ to 18.5 and multiply these two values to obtain the area of the room in square feet. Next, divide this number (286.75) by the area covered by one box of tiles (25 sq ft). Finally, round 11.47 boxes up to 12 boxes, as it is probably not possible to order a fraction of a box of tiles.

1. 15½ becomes 15.5 and 18½ becomes 18.5; 15.5 x 18.5 = 286.75 sq ft;
286.75 sq ft ÷ 25 = 11.47, then rounded down to 11 boxes

2. 15½ becomes 15.5 and 18½ becomes 18.5; 15.5 x 18.5 = 286.75 sq ft;
286.75 sq ft ÷ 25 = 11.47, then rounded up to 12 boxes [image: image7.png]


Correct
3. 15.5 + 18.5 = 34: Added the room dimensions

4. 15.5 + 18.5 + 25 = 59: Added all the dimensions given in feet

5. 15.5 x 18.5 = 286.75, then rounded up to 287: The area of the room in square feet

Locating Information

A recent survey found that 22.1% of hourly employees had an inability to read and translate drawings, diagrams, and flow charts. Locating information has added a fourth "R"-retrieval skills-to the original 3Rs of reading, writing, and arithmetic. The skill people use when they locate, synthesize, and use information from workplace graphics such as charts, graphs, tables, forms, flowcharts, diagrams, floor plans, maps, and instrument gauges is a basic skill required in today's workforce.

The WorkKeys Locating Information test measures the skill people use when they work with workplace graphics. Examinees are asked to find information in a graphic or insert information into a graphic. They also must compare, summarize, and analyze information found in related graphics.
Level 3 Practice Question

You regularly check the pressure gauge on a large tank. According to the gauge shown, what is the current pressure (in PSI)?

1. 30

2. 35

3. 40

4. 45

5. 100
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Level 3 Practice Question Answer

1. The graduations are by 10s not 20s. Attractive because if graduations were by 20s, the pressure would be about 30 (between 20 and 40).

2. The graduations are by 10s and therefore the major line between 20 and 40 would be 30. The needle, though, lies between this graduation (30) and 40, so it reads 35 as best choice. [image: image9.png]


Correct
3. Attractive because needle is closer to 40 than 20, but 35 is best choice.

4. Attractive to those who read 40 and then increase counterclockwise by 5 to get 45.

5. The needle is to be read using the pointed end. Attractive because the short, wide end of the needle points to 100.

Level 4 Practice Question

You must sort clothes in a dry cleaning establishment according to the customer's instructions. According to the form shown, how should this customer's shirt be treated?

1. Dryclean it, add light starch, and fold it.

2. Dryclean it, add light starch, and place it on a hanger.

3. Launder it with no starch and place it on a hanger.

4. Launder it with light starch and place it on a hanger.

5. Launder it with medium starch and fold it.
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Level 4 Practice Question Answer

1. You are to launder the shirt rather than dry clean, and it should not be folded.

2. You are to launder the shirt rather than dry clean.

3. The shirt should be starched lightly.

4. The shirt is to be laundered and then starched (light) and
on a hanger. [image: image11.png]


Correct
5. The shirt should be starched lightly not medium and it should not be folded

Level 5 Practice Question

As an airplane pilot, you need to determine the crosswind component of the wind speed to ensure safe takeoffs and landings. According to the graph shown, if the reported wind speed is 45 knots at a 20° angle, what is the crosswind component, in knots?

A. 15

B. 25

C. 43

D. 45

E. 65
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Level 5 Practice Question Answer

A. First, locate the 20 degree line on the "Relative Wind Angle" scale. Move along this line to halfway between the 40- and 50-knot arc lines. This is the 45-knot wind speed point. From this point, drop straight down to the "Crosswind Component" axis to a point halfway between 10 and 20. This is the crosswind component, 15 knots. [image: image13.png]


Correct
B. The intersection between 20 on the Crosswind Component axis and 45 on the "Headwind Component" axis falls on the 25 degree line for relative wind angle, but this does not account for the value of 20 degrees for relative wind angle.

C. 43 knots is the headwind component for a wind speed of 45 knots at a 20 degree angle, but the question asks for the crosswind component, not the headwind component.

D. This reflects an incorrect reading of the chart based on following the 20 value from the "Headwind Component" axis down to the crosswind component value of 45.

E. The intersection of 20 on the "Headwind Component" axis and 45 on the "Crosswind Component" axis is near the 65-degree line for relative wind angle, but the question asks for the crosswind component, not a wind angle value.

Level 6 Practice Question

You are a road contractor and you have analyzed a soil that you want to use for road fill. Your analysis shows that the soil contains 15% sand, 65% silt, and 20% clay. You need to know what the shrink-swell potential is for the soil because it will affect the durability of the road. Based on the diagram and table shown, what is the shrink-swell potential at a 30-inch depth for this soil?

1. Low

2. Low to moderate

3. Moderate

4. Moderate to high

5. High
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Level 6 Practice Question Answer

1. The shrink-swell potential for silt loam is low (to moderate) at range 38-60", but you are interested in 30".

2. The shrink-swell potential for silt loam is low to moderate at range 38-60", but you are interested in 30".

3. The shrink-swell potential for silt loam at 0-38" is moderate, so the shrink-swell potential for 30" is moderate.[image: image16.png]


 Correct
4. The shrink-swell potential for silt loam at 30" is moderate, but does not range to high.

5. The shrink-swell potential for silt loam does not range to high.

